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Electronics and Communication Engineering

EC/AI/IC 2K 506-DIGITAL SYSTEM DESIGN

Time : Three Hours Maximum : 100 Marks

Answer all questions.

I. (a) State and explain the reason for static hazard in a combinatignal circuit. 
:

@) what are control signals and condition signals, explain with example ?

(c) Write the WIDL model for 4 : 1 multiplexer using selected signal assigument statement.
(d) Distinguish between Tlansport and Inertial Delays.

(e) Draw trls gihflified block diagram of a pLA.

(0 Discuse about the logic Element (LE) of Flex l0 series CPLDs.
(e) Explain with suitable example fault detection using path sbnsitization method.

(h) Describe the scau path testing method of sequential circrrits. 
(g x 5 = 40 marks)

if . (a) Desigu a sequential circuit with two D flip-flops A and B and one input r. When r = 0 the state
of the circuit remains same. When r = 1, the circuit goes through the state transitions from 00
to 01 and 11 to 10 back to 00 and repeats.

Or

O) Explaiq with suitable example hazards in combinational network and seque4tial network.
. : Also suggest suitable schemes 1e sliyyiinafe them.

(15 mdrks)
m. (a) With the help of suitable example illustrate the differen.,i b"t*u"o using variables and signals

in a process

'Or
(b) (i) For the Tristate buffers with active high output enable shown in the following diagram,

(10 marks)
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write the WIDL code.
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(u) Di-rentiatc between Variable assignment and Signal assignment' (5 marks)

IV. (a)' Deeigg.a perallel adder with accumulator using zzull} CMOSPLD (4 bit adder)'
ll " l'_ . u

(b).,'ihn* the gimplified btock diagram for Xilinx 400 eeries CLB and C""ry logic and explain.
' :'.1 (lb marks)

V. (a). ,Draw ihe AND-OR network to realize the expression f = obc + &f + ghi and obtain the test
; :rt irr".tro" fer teeting the I inputs of the cireuit for stuck at - 0 and stuck at - I fault.

.Or
O) ::E:rptain tbe senn path ted procedure with the help of suitable example.

(15 marks)

[4 x l5 = 60 marksl
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